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SARDAR PATEL UNIVERSITY
MA (ECONOMICS) (IV Semester) EXAMINATION
2012
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PAO4CECOO03 : QUANTITATIVE ECONOMICS

1. Attempt all questions.

2. Figures to the right indicate full marks of the question. Total Marks: 70
Fill in the blanks with appropriate option, write answers in answerbook. [10]
For maximization of y=F(x) should be :

dy d?y d’y d’y
a —=0and —->0 b) —-=0and —-<o0
@) X dx? (®) dx? dx?

2

(c) ﬂ =0 and Z >0

X

If Q = F (L.K) where Q=Production units L=Labour and K=Capital then
marginal productivity of labour MPL =

do dK aQ
= by — e
(a) m (b) i (©) KL
The value of R? will always be .
(@ r*>1 (b) =1 () r’<1

If the variation in two variables is in the same direction then their
correlation will be

(@) Negative (b) Pdsitive (c) Zero
are the sign of co efficient of variation and correlation.
(@) Equal (b) Opposite (c) Always negative
byx xbxy = :
(@) b’ (b) © 1
When there is perfect correlation between two variables then will
be the degree of two regression lines.
(@ 90° (b) 0° (c) 60°

____method of computation index number preceding year is taken as base year.
(@) Chain base method (b) Fixed base method (c) Both
While computing family budget method, if weight is not given then
is taken into consideration.
(@ W =poo (b) W=p.q, () W=poa,
In the computation of index number method does not satisfy time
reversal test.
(a) Fisher's (b) Marshal-Edgeworths (c) Paasche's

If the cost function is C=25x - 8x*+x°, prove that when the average cost is [05]
minimum, average cost (AC) and marginal cost (MC) are equal.
Define derivative and with help of it find derivate at y=7-5x". [04]
What is second derivative ? Explain how the derivative is useful in [06]
economic analysis.
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The demand and cost function of a monopolist firm are P=15-Q and
C=10+4Q respectively.
Find : 1. Profit function, Marginal Cost Function and Average Cost
Function.
2. Find profit maximizatin level of out and maximum profit.
Explain with illustration the following concepts.
(1) Partial derivative  (2) Total differential.

Define correlation. Explain the methods of studying correlation with the
help of scattered diagram.

Following is the information about profit collected from selling of two
products. Find out the co efficient of correlation and probable errors.
Interpret it.

Commodity X | 1000 | 800 600 | 200 |1000 | 1200 | 400 | 800

Commodity Y | 3200 | 3700 | 2800 | 1600 | 3300 | 3700 | 2200 | 3400

OR

What is meant by probable error ? How will you interpre efficient of
correlation ? Explain.

For a biominal sample following information is available. Find out
correlation of coefficient by the Product Moment method

Series:X | Series:Y
1. Assumed Mean 41 32
2. Sum of the deviation from assumed -170 -20
mean
3. | Sum of the squares of the deviation from 8180 2290
assumed mean

4. | Sum of the multiple of deviation from
3480
assumed mean x and y.

5. | Number of pairs 10

Following are the 'rank' of Ten students in two subjects Economics and
Statistics. Find out coefficient of correlation.

Statistics 3/51|8 (4|7 10 1
Economics 6 /4|9 (8 |1|2 |3 |10|5 |7

N
»
©

What is regression coefficient ? Explain interpretation of regression.
Explain regression equation. Explain difference between correlation and
regression.

Using the following is the information, find out regression lines and
coefficient of regression. Find estimated price of Y when X = 100.

X Y
Mean 20 80
Standard deviation 55 22
Coefficient of correlation 0.8
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What is Association of Attribute ? Explain types of association of attribute.
Explain the Causes of Regression Error.

Following is the information about Orange and Lemon. Find out regression
line and coefficient of regression. Find estimation price of orange when
price of lemon is y=30.

Lemon 5048 49 |53 | 55|51 |49 |53
Orange 3213640 35|30 ]33|38]40

What is meant by Cost of Living Index. Discuss its construction.

Why Fisher's index number is considered the ideal index number. Explain.
Following is the information about examine budget of middle class family
of any town. Find out cost of living index of 2011 to compare the 2005.

Items . 2005 . . .2011
Price (Rs.) | Consumption Units | Price (Rs.)
A 1.20 20 3.00
B 1.50 12 4.50
C 2.00 15 3.00
D 1.75 20 5.25
E 1.90 10 3.80
OR

What is index number ? Explain its construction, usefulness and
limitations.

Find the index number using the following data and proved it; Time
Reversal Test and Factor Reversal Test.

Base Year Current Year
Commodities | Price | Quantity | Price | Quantity
(Rs) | (kg) (Rs.) (kg)
A 8 50 20 60
B 2 15 6 10
C 1 20 2 25
D 2 10 5 8
E 1 40 5 30
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. w3l eIyl Aissi del exid 8.

A19Y [Ascy uRie 83 vid] w20l ¥diol Gadudlai duil.
y=F(x)all dgTlses a2 ........ g A,

dy d?y d?y d?y
AH) —-=0 and —>0 ] =0 and —-<0
( )dx dx? (<) dx? dx?
2

(s) ﬂ:o and M>0
dx

dx?

. Q=F (LK) &la ¥Ai Q=BcuIEalall Asal, L= Ha K=3g] dl Hadll Alaid
Gculesdl MPL = .........
dQ dK dQ
() dL (o) e (s) KL
Rl Baia &aall ........... gl 8.
() rr>1 (o) P=1 (s) r<1
A RAcif@ld A Udel UNRdis] Adlal [EM3i cledidl 81~y dl daidfl 9R)
.......... AsRACiY 8,
(1) =pe (ot) @t (s) 2o
A& (AU idl AB AGidisdl RG] .............. el 8.
(1) 2alal (c1) RALN (s) &agi amel
byxxbxy =
(1) b’ (o1) r (s)

o UM YR AYE! AsAcid &l1A AR [o1Ad Acig I gl vl .........
gl 8.

(1) 90° (¢1) 0O° (s) 60°

......... ugldell us disdl aaeidai AlHcel a¥al AILR 9y AU
2119 8.

(1) wulRd (o) 21ud i8R dd  (8) olodl

. 81¢feis vigedl Adai GIR of ANE &1 dl .......... ysaiHi 2419 8.

() W = poto (1) W=p,q, (8) W=poas
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s gvReR Uélg Aol Ay el §d viRle] [ATY HojsA P=15-Q idl
C=10+4Q &l di,

(1) aisio A8, Alaied viief [ADA el AR viRie] (AT 2AIE.

(R) oisl HEdA clal d BeulEalg] 2R MEN il HeTA oigl M.

oA wendd vaidl Geigel Ald AAvdl.

(1) »iRis [@Asdal (R) g0 [Qsda

A& Acitoll A AAMdl. A&AciUdl AR Aa [Aslel 2g(dddl seeel
AAWdl.

o argell duIRIHIY UILd &Ad aslell AIRd] oflJ Yol 8. d e ol uq
43 A Acitlis AEN Al dof vieizal 83U, 2AciQAd €N 2AMe.

g2d X 1000 | 800 600 | 200 | 1000 | 1200 | 400 | 800
g Y 3200 | 3700 | 2800 | 1600 | 3300 | 3700 | 2200 | 3400

AYqi

Aeid ey Aed gj ? A RAcidise xPeza 3d] Ad s, AxWd).
As [sud foeel a2 oflddll aifedl #d 8. d Guell dyeid-MuIdd] ael
AgAcigis M.

UE-X | uAd-Y
Q. | 4Rdl HeAS 41 32
2. | giRdl deasHief] dddl Ruddlel 2410 -170 -20
3. | arRdl HeasaHil d1ddl Quddlal gdilell 242q100 | 8180 | 2290
¥. | X Ad Yol gRdl dcasaHiell dlddl Ruddlail 3480
JRIISIRel AAIN
U. | X 4d Yol 2A4disiol] Fslell 24ui 10

A [ANA] AisSIARI Vel A&ARMNAI €A [Qu[Aloll saisl oflA Yol 8.
A& Acigis M.

AiSSI2AIR 3|58 (4710 1 9
XL RIS 6/4/9 8(1|/2 |3]10|5 |7

N
(o))

[G1d RAcidlis led g ? [G1ad Acigiall RIGAT AHMd].
GiRaa RAcia Aflsel AdWdl. Ae Afcie d [6lRAA 2Acid dRAdll dsidd
AHdl.
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s) olJ 21Ud] afedl uell d fGlad  2Acigiis]l didl [eid Acig vl Mal.  (ou)
¥R X =100 &1 AR Yol AA2IMRId Bad 2MNe.

X Y

HEJS 20 80

yailtid [Quda 55 22

A6 AGdis 0.8

Y

Uy
A)  delicHs Aoig Aled g ? dJRlcHS Acitiall USR] AHV). (ou)
o) [oad 2icier 2ol s1RRI AWl (ou)

s) aRicll 2Aal aioflofl 2n1lEd] oflA yover B, A uel [olud 2Acigiisi 212N el [GRid Acia  (ou)
aflsRel M. IR ARioflell Bad Y=30 &l IR aiRaflell Baicgf 11101 2.

al122f] 50 |48 |49 | 53 | 55 | 51|49 | 53
Aliol | 32 36|40 | 35|30 |33|38]40

u.yu
¥) D [sidigadl JUS s Vled | ? doll Rallall Y1 YU (ou)
o) [52Rell YUS lisa ‘VER]’ YUS Vis A A2 sBAIHI 241 & ? AAW). (o¥)

§) slg As Al HEAH Ydall gZoiloll JEIY Udloll duIR ofld Yxoioll addl  (o5)
AN 8. 20054 2uiieNlA 2011312 MU (sidfe vidal 2yus is 2.

aaq 2005 2011
elid (31.31) | guriiell AsaAl | g (31.3i)
A 1.20 20 3.00
B 1.50 12 4.50
C 2.00 15 3.00
D 1.75 20 5.25
E 1.90 10 3.80
u.yu
) YUS Bis Vled ] ? YUS Aisdll Rall, GUAP(dI idl HATEIRA AAW). (09)

o) ofldofl f@d] uefl (5210l YUSVHiS MEN Hal cidid] 3 d AHY [@AuATA 2ad (0¢)
ve [Quala udlzier AdN 8.

AlER 9y AUlg 9y

ard | el (31.40) | weal ((5.21.) | ena (3.ai) | weal ((5.21.)
A 8 50 20 60

B 2 15 6 10

C 1 20 2 25

D 2 10 5 8

E 1 40 s 30
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